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ENGLISH VERSION

General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 60 questions out of which 50 questions are
to be attempted. All questions carry equal marks.

(i1) The question paper consists three Sections — Section A, B and C.

(iti) Section — A consists of 24 questions. Attempt any 20 questions from
Q. No. 1 to 24.

(iv) Section — B also consists of 24 questions. Attempt any 20 questions
from Q. No. 25 to 48.

(v) Section — C consists of three Case Studies containing 12 questions and
4 questions in each case. Attempt any 10 from Q. No. 49 to 60.

(vi)  There is only one correct option for every Multiple Choice Question
(MCQ). Marks will not be awarded for answering more than one option.

(vii) There is no negative marking.

SECTION - A

Section-A consists of 24 questions (Q. No. 1 to 24). Attempt any 20 questions
from this section. The first attempted 20 questions would be evaluated.

1. A student took Sodium Sulphate solution in a test tube and added Barium
Chloride solution to it. He observed that an insoluble substance has
formed. The colour and molecular formula of the insoluble substance is :

(a) Grey, Ba,SO, (b) Yellow, Ba(SO ),
(c) White, BaSO, (d) Pink, BaSO,
2.  Which of the following oxide(s) is/are soluble in water to form alkalies ?
(i) Na,O (i) SO, (i) K,0 @iv) NO,
(a) (1) and (i11) (b) (@) only
(¢c) (1) and (iv) (d) (i1) only

3. Study the diagram given below and identify the gas formed in the reaction.

O

Dilute
sulphuric acid:

Zinc granules

/<

| m—

(a) Carbon di-oxide which extinguishes the burning candle.
(b) Oxygen due to which the candle burns more brightly.

(¢) Sulphur dioxide which produces a suffocating smell.

(d) Hydrogen which while burning produces a popping sound.
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4. Sodium reacts with water to form sodium hydroxide and hydrogen gas.

The balanced equation which represents the above reaction 1is;

(a) Na(s) + 2H,0(]) » 2NaOH(aq) + 2H,(g)
(b) 2Na(s) + 2H,0()) - 2NaOH(aq) + Hy(g)
(c) 2Na(s) + 2H,0(])) > NaOH(aq) + 2H,(g)
(d) 2Na(s) + H,0()) > 2NaOH(aq) + 2H,(g)

5. Which of the options in the given table are correct ?

Option | Natural Source | Acid Present
(1) Orange Oxalic acid
(11) Sour milk Lactic acid
(111) Ant sting Methanoic acid
(iv) Tamarind Acetic acid

(a) (i) and (ii)
(¢) (i) and (iii)

) (i) and (iv)
(d) (iii) and (iv)

6. CgH,,04aq) + 60,(aq) - 6CO,(aq) + 6H,0()

The above reaction is a/an

(a) displacement reaction

(¢) exothermic reaction

(b) endothermic reaction
(d) neutralisation reaction

7. Which of the following statements about the reaction given below are

correct ?

MnO,, + 4HCI - MnCl, + 2H,0 + C,
() HClis oxidized to C,

(1) MnO, is reduced to MnCl,

(i) MnCl, acts as an oxidizing agent

(iv) HCI acts as on oxidizing agent
(a) (11), (111) and (iv)
(¢) (1) and (11) only

8. Select from the following the statement which is true for bases.

®) (), (i) and (iii)
(d) (iii) and (iv) only

(a) Bases are bitter and turn blue litmus red.
(b) Bases have a pH less than 7.

(c) Bases are sour and change red litmus to blue.
(d) Bases turn pink when a drop of phenolphthalein is added to them.
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10.

11.

Study the following table and choose the correct option :

Salt Parent Acid | Parent Base | Nature of Salt
(a) |Solidum Chloride HCl! NaOH Basic
(b) |Sodium Carbonate H,CO,4 NaOH Neutral
(¢) |Sodium Sulphate H,SO, NaOH Acidic
(d) [Sodium Acetate CH,COOH NaOH Basic

It is important to balance the chemical equations to satisfy the law of

conservation of mass. Which of the following statements of the law is

incorrect ?

(a) The total mass of the elements present in the reactants is equal to
the total mass of the elements presents in the products.

(b) The number of atoms of each element remains the same, before and
after a chemical reaction.

(¢) The chemical composition of the reactants is the same before and
after the reaction.

(d) Mass can neither be created nor can it be destroyed in a chemical
reaction.

Consider the following statements in connection with the functions of the
blood vessels marked A and B in the diagram of a human heart as shown.

— A

(1) Blood vessel A — It carries carbon dioxide rich blood to the lungs.

(11) Blood vessel B — It carries oxygen rich blood from the lungs.

(111) Blood vessel B — Left atrium relaxes as it receives blood from this
blood vessel

(iv) Blood vessel A — Right atrium has thick muscular wall as it has to
pump blood to this blood vessel.

The correct statements are

(a) (1) and (i1) only (b) (11) and (ii1) only

(¢c) (1), (111) and (1v) (d) (), (1) and (i11)
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12. In living organisms during respiration which of the following products are
not formed if oxygen is not available ?

(a) Carbon dioxide + Water (b) Carbon dioxide + Alcohol
(¢) Lactic acid + Alcohol (d) Carbon dioxide + Lactic Acid

13. The correct statements with reference to single celled organisms are
(1) Complex substances are not broken down into simpler substances.

(11) Simple diffusion is sufficient to meet the requirement of exchange of
gases.

(111) Specialised tissues perform different functions in the organism.

(1v) Entire surface of the organism is in contact with the environment for
taking in food.

(a) (i) and (iii) () (i) and (iii)
() (i) and (iv) @) (i) and (iv)

14. Which one among the following is not removed as a waste product from
the body of a plant ?

(a) Resins and Gums (b) Urea
(c) Dry Leaves (d) Excess Water

15. Which of the following statements are correct in reference to the role of A
(shown in the given diagram) during a breathing cycle in human beings ?

(1) It helps to decrease the residual volume of air in lungs.
(11) It flattens as we inhale.
(111) It gets raised as we inhale.
(1v) It helps the chest cavity to become larger.
(a) (1) and (iv) (b) (111) and (1v)
(¢) (1) and (1) (d) (), (1) and (iv)
031/2/4 Page 5 P.T.O.



16. Which one of the following conditions is true for the state of stomata of a
green leaf shown in the given diagram ?

Stomata

Guard
cells

(a) Large amount of water flows into the guard cells.

(b) Gaseous exchange is occurring in large amount.

(¢) Large amount of water flows out from the guard cells.
(d) Large amount of sugar collects in the guard cells.

17. In which of the following is a concave mirror used ?
(a) A solar cooker
(b) A rear view mirror in vehicles
(¢) A safety mirror in shopping malls
(d) In viewing full size image of distant tall buildings.

18. A student wants to obtain magnified image of an object AB as on a screen.
Which one of the following arrangements shows the correct position of AB
for him/her to be successful ?

M M
A > A A . CA

(a) —B (b) .
2k 2F,  F; O

Cq

N N
M

A A
© -e . O}\ d) —e— D 0

2F F oF, Iy

Cy

N N
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19. The following diagram shows the use of an optical device to perform an
experiment of light. As per the arrangement shown, the optical device is

likely to be a;

—

(a) Concave mirror (b) Concave lens

(c) Convex mirror (d) Convex lens

20. A ray of light starting from air passes through medium A of refractive
index 1.50, enters medium B of refractive index 1.33 and finally enters
medium C of refractive index 2.42. If this ray emerges out in air from C,
then for which of the following pairs of media the bending of light is least ?

(@) air-A ®) A-B
(© B-C (d) C-air

21. Which of the following statements is not true for scattering of light ?

(a) Colour of the scattered light depends on the size of particles of the
atmosphere.

(b) Red light is least scattered in the atmosphere.

(c) Scattering of light takes place as various colours of white light travel
with different speed in air.

(d) The fine particles in the atmospheric air scatter the blue light more
strongly than red. So the scattered blue light enters our eyes.

22.

OpF—>
a~)

For the diagram shown, according to the new Cartesian sign convention
the magnification of the image formed will have the following
specifications :

(a) Sign — Positive, Value — Less than 1

(b) Sign — Positive, Value — More than 1

(c) Sign — Negative, Value — Less than 1

(d) Sign — Negative, Value — More than 1
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23.

24.

25.

3

c !\A

A ray of light is incident as shown. If A, B and C are three different
transparent media, then which among the following options is true for the
given diagram ?

(a) £1>24 b) ZL1<2s2
() £3=4£2 d «£3>24

In the diagram given below, X and Y are the end colours of the spectrum
of white light. The colour of Y’ represents the

X
% White light

(a) Colour of sky as seen from earth during the day.
(b) Colour of the sky as seen from the moon.
(¢) Colour used to paint the danger signals.

(d) Colour of sun at the time of noon

SECTION - B

Section-B consists of 24 questions (Q. No. 25 to 48). Attempt any 20 questions
from this section. The first attempted 20 questions would be evaluated.

Which one of the following reactions 1s categorised as thermal
decomposition reaction ?

(a) 2H,0()) —» 2H,(g) + O4(g) (b) 2AgBr(s) — 2Ag(s) + Bry(g)
() 2AgCl(s) - 2Ag(s) + Cly(g) (d) CaCOg4(s) - CaO(s) + CO,(g)
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26. Consider the pH value of the following acidic samples :

(b) 2>1>3>14
(d 383>4>2>1

S. No. Sample pH Value
1. Lemon Juice 2.2
2. Gastric Juice 1.2
3. Vinegar 3.76
4. Dil. Acetic acid 3.0
The decreasing order of their H ion concentration is
(a) 3>4>1>2
(¢ 2>1>4>3

27. Study the experimental set up shown in given figure and choose the

correct option from the following :

(a)
(b)
(©)
(d)

c

Dilute
hydrochloric

Q

ACId i et
/2;,>

&DYP

Calcium
hydroxide
solution

P Q Change observed in calcium
hydroxide solution
K,CO,4 Cl, gas No change
KHCO,4 | CO, gas No change
KHCO; | H, gas Turns milky
K,CO,4 CO, gas Turns milky

28. Which one of the following structures correctly depicts the compound
CaCl, ?

(a) Ca*" [ Cl

© Ca [ cz]
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29.

30.

The pair(s) which will show displacement reaction is/are
(1) NaCl solution and copper metal
(i1) AgNO, solution and copper metal

(1) Aly(SO,)4 solution and magnesium metal

(iv) ZnSO, solution and iron metal
(a) (i1) only (b) (i1) and (iii)
(¢c) (ii1) and (1v) (d) (1) and (11)

Which of the following salts do not have the water of crystalisation ?

(1) Bleaching Powder (11) Plaster of Paris
(111) Washing soda (iv) Baking soda

(a) (1) and (iv) (b) (1) and (i11)

(c) (1) and (ii1) (d) (@) and (iv)

Question No. 31-35 consists of two statements — Assertion (A) and Reason (R).
Answer these questions selecting the appropriate option given below :

31.

32.

33.

34.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(¢) (A) 1is true, but (R) 1s false.

(d) (A) is false, but (R) is true.

Assertion (A) : Sodium hydrogen carbonate is used as an ingredient in
antacids.

Reason (R) : NaHCO, is a mild non-corrosive basic salt.

Assertion (A) : Burning of Natural gas is an endothermic process.

Reason (R) : Methane gas combines with oxygen to produce carbon
dioxide and water.

Assertion (A) : Nitrogen is an essential element for plant growth and is
taken up by plants in the form of inorganic nitrates or nitrites.

Reason (R) : The soil is the nearest and richest source of raw materials
like Nitrogen, Phosphorus and other minerals for the plants.

Assertion (A) : Sun appears reddish at the time of Sunrise and Sunset.

Reason (R) : Distance travelled by sunlight in the atmosphere is lesser
during sunrise and sunset as compared to noon.
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35. Assertion (A) : Hydrochloric acid helps in the digestion of food in the
stomach.

Reason (R) : Hydrochloric acid creates an acidic medium to activate
protein digesting enzymes.

36. A student was asked to write a stepwise procedure to demonstrate that
carbon dioxide i1s necessary for photosynthesis. He wrote the following
steps. The wrongly worded step is —

(a) Both potted plants are kept in dark room for at least three days.
(b) Bottom of the bell jars is sealed to make them air tight.

(c) Both potted plants are kept in sunlight after the starch test.

(d) A leaf from both the plants is taken to test the presence of starch.

37. Respiratory structures of two different animals-a fish and a human being
are as shown.

Observe (a) and (b) and select one characteristic that holds true for both of
them.

Gills (a) Alveoli (b)

Water
flows in e
through x ¢
mouth Ny

(a) Both are placed internally in the body of animal.
(b) Both have thin and moist surface for gaseous exchange.
(c) Both are poorly supplied with blood vessels to conserve energy.

(d) In both the blood returns to the heart after being oxygenated.
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38.

39.

40.

41.

42,

43.

Observe the diagram of an activity given below. What does it help to
conclude, when the person exhales into the test-tube ?

X
N

Lime water

\_/
(a) Percentage of carbon dioxide is more in inhaled air.

(b) Fermentation occurs in the presence of oxygen.

(c) Percentage of carbon dioxide is more in the exhaled air.
(d) Fermentation occurs in the presence of carbon dioxide.

If a lens can converge the sun rays at a point 20 cm. away from its optical
centre, the power of this lens is —
(a) +2D (b)y —-2D (cp +5D (d -5D

The radius of curvature of a converging mirror is 30 cm. At what distance
from the mirror should an object be placed so as to obtain a virtual image ?
(a) Infinity (b) 30cm

(c) Between 15 cm and 30 cm (d) Between O cm and 15 cm

The length of small intestine in a deer is more as compared to the length
of small intestine of a tiger. The reason for this is —

(a) Mode of intake of food.

(b) Type of food consumed.

(c) Presence or absence of villi in intestines.

(d) Presence or absence of digestive enzymes.

Identify the two components of Phloem tissue that help in transportation
of food 1n plants.

(a) Phloem parenchyma & sieve tubes

(b) Sieve tubes & companion cells

(c) Phloem parenchyma & companion cells

(d) Phloem fibres and sieve tubes

A converging lens forms a three times magnified image of an object, which
can be take on a screen. If the focal length of the lens is 30 cm, then the
distance of the object from the lens is

(a) —55cm (b) —50cm (c) —45cm (d) —40cm
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C

44.
Object ﬂ
1; E

Which of the following statements is not true in reference to the diagram
shown above ?

(a) Image formed is real.
(b) Image formed is enlarged.
(c) Image is formed at a distance equal to double the focal length.

(d) Image formed is inverted.

45, !
1 61: n,
9 !
! I
)
3 b .
1
Lo
! 1
| 1

In the diagram shown above n,, n, and ny are refractive indices of the

media 1, 2 and 3 respectively. Which one of the following is true in this
case ?

(@ n;=n, () n;>n, (c) n,>n, (d) ng>n,;

46. The refractive index of medium A is 1.5 and that of medium B is 1.33. If
the speed of light in air is 3 x 10® m/s, what is the speed of light in
medium A and B respectively ?

() 2x10®°m/sand 1.33x108m/s (b) 1.33 x 10®8 m/s and 2 x 108 m/s
() 2.25x108m/sand 2x108m/s (d) 2 x 10%8 m/s and 2.25 x 108 m/s

47. An object of height 4 cm is kept at a distance of 30 cm from the pole of a
diverging mirror. If the focal length of the mirror is 10 cm, the height of
the image formed is

(a) +3.0cm (b) +2.5cm (¢cp +1.0cm (d +0.75cm
031/2/4 Page 13 P.T.O.



48. 50.0 mL of tap water was taken in a beaker. Hydrochloric acid was added
drop by drop to water. The temperature and pH of the solution was noted.
The following graph was obtained. Choose the correct statements related
to this activity.

7.00—
6.00
5.00
4.00

3.00]
2.00—¥
1.00

I I 1 I 1
10.0 20.0 30.0 40.0 50.0

Volume of HC! added (mL)

pH of Solution

(1) The process of dissolving an acid in water is highly endothermic.
(1) The pH of the solution increases rapidly on addition of acid.

(111) The pH of the solution decreases rapidly on addition of acid.

(1v) The pH of tap water was around 7.0.

(@ (1) and (11) (b) () and (iii)
(c) (ii1) and (iv) (d) @1 and (1v)
SECTION - C

Section-C consists of three cases followed by questions. There are a total
of 12 questions (Q. No. 49 to 60) in this section. Attempt any 10 questions
from this section. The first attempted 10 questions would be evaluated.

Case-1:

A student, took four metals P, Q, R and S and carried out different
experiments to study the properties of metals. Some of the observations
were :

e  All metals could not be cut with knife except metal R.

e Metal P combined with oxygen to form an oxide M,04 which reacted
with both acids and bases.

e Reaction with water.
P — Did not react either with cold or hot water but reacted with steam
Q - Reacted with hot water and the metal started floating
R - Reacted violently with cold water.
S — Did not react with water at all

Based on the above observations answer the following :
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49.

50.

51.

52.

53.

031/2/4 Page 15 P.T.O.

Out of the given metals, the one which needs to be stored used Kerosene is

(a) P (b) R () S d Q

Out of the given metals, the metal Q is

(a) Iron (b) Zinc (c) Potassium (d) Magnesium
Metal which forms amphoteric oxides is

(a P (b) Q () R (d) S

The increasing order of the reactivity of the four metals is;

(a) P<Q<R<S (b) S<R<Q<P

(¢ S<P<Q<R (d P<R<Q<S

Case-II :

The figure shown below represents a common type of dialysis called as
Haemodialysis. It removes waste products from the blood. Such as excess
salts, and urea which are insufficiently removed by the kidney in patients
with kidney failure. During the procedure, the patient’s blood is cleaned
by filtration through a series of semi-permeable membranes before being
returned to the blood of the patient. On the basis of this, answer the
following questions :

Line from
Tubing made of a

selectively permeablq
membrane

Line from
apparatus
to vein

Fresh Used dialysing
dialysing solution
solution

The haemodialyzer has semi-permeable lining of tubes which help to :
(a) To maintain osmotic pressure of blood.

(b) To filter nitrogenous wastes from the dialyzing solution.

(¢) In passing the waste products in the dialyzing solution.

(d) To pump purified blood back into the body of the patient.



54.

55.

56.

57.

58.

59.

60.

Which one of the following is not a function of Artificial Kidney ?
(a) To remove nitrogenous wastes from the blood.

(b) To remove excess fluids from the blood.

(¢) To reabsorb essential nutrients from the blood.

(d) To filter and purify the blood.

The ‘used dialysing’ solution is rich in;
(a) Urea and excess salts (b) Blood cells
(¢c) Lymph (d) Proteins

Which part of the nephron in human kidney, serves the function of
reabsorption of certain substances ?

(a) Glomerulus (b) Bowmans Capsule
(c) Tubules (d) Collecting duct
Case-III :

A compound microscope is an instrument which consists of two lenses L;
and L,. The lens L called objective, forms a real, inverted and magnified
image of the given object. This serves as the object for the second lens L,;

the eye piece. The eye piece functions like a simple microscope or
magnifier. It produces the final image, which is inverted with respect to
the original object, enlarged and virtual.

What types of lenses must be L; and L, ?

(a) Both concave (b) Both convex
(¢) L;—concave and L, — convex (d) L; —convex and L, — concave

What is the value and sign of magnification (according to the new
Cartesian sign convention) of the image formed by L ?

(a) Value = Less than 1 and Sign = Positive

(b) Value = More than 1 and Sign = Positive

(¢) Value = Less than 1 and Sign = Negative

(d) Value = More than 1 and Sign = Negative

What 1s the value and sign of (according to new Cartesian sign
convention) magnification of the image formed by L, ?

(a) Value = Less than 1 and Sign = Positive

(b) Value = More than 1 and Sign = Positive

(¢) Value = Less than 1 and Sign = Negative

(d) Value = More than 1 and Sign = Negative

If power of the eyepiece (L) is 5 diopters and it forms an image at a distance

of 80 cm from its optical centre, at what distance should the object be ?
(a) 12cm (b) 16cm (c) 18cm (d 20cm
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(a) Na(s) + 2H,0(]) » 2NaOH(aq) + 2H,(g)

(b) 2Na(s) + 2H,0()) » 2NaOH(aq) + Hy(g)

(¢c) 2Na(s) + 2H,0(])) > NaOH(aq) + 2H,(g)

(d) 2Na(s) + H,O()) > 2NaOH(aq) + 2H(g)
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(iii) HA HTEH g I
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(ili) MnCl, 3= % &9 § HE HT 2 |

(iv) HCI 399 & 9 § 1 Hial 2 |

(a) (i), (iii) 3 (iv) (b) (@), (i) 3 (iii)
(¢) haet (1) 3T (i1) (d) wHad (iii) 3R (iv)
Aeh o fawr § fmfefaa o @ @&t wem g |

(a) TR I T&TG Heal BrdT & 3R I et fofend =l a1 Ld 2 |
(b) A HTpH 7AHABAR |

(c) &ITehi o WITC WET BIAT & 3T I AT oy ol T hid & |
(d) &TReh! 1 {1 fpTeradfer ot 5 firet W erme g ST 2 |
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9. =& it Aferent 1 31 ek wEl foehed T

Aqu A I+ A Gk | @ hl Jepid
(a) gifeaq TS HC! NaOH AR
(b) ifead HEHe H,CO, NaOH e
() ifeaq Tcthe H,SO, NaOH L]
(d) qifegm wefiee | CH,COOH | NaOH &

10. S9HM % TREIU & o shi wqfE o foie Temie gt i dqferd 1 Ageqy ¢ |
38 Foem o ey 4 i o R i w1y wE T R
(a) SINTRIERI H IUTRIT Tl T el AWM IcATGl H YA Tl o el GHM

TS EATR |

(b) TEREfTR ATATR & q& 37X AMTRaT o TvaTq Tieh d o UHIY] hi HE&AT GHH

e |

() SANYHIhI T TR Fere TR & gd 3R 36 Iv=Td T &l 8 |
(d) Toreht TEmafies rfufsren # geamm &1 3 @ Scae T S gehan 2 3T A € 98 femen

ST HHATR |

11. ST U qHE 229 % 3TR@ ¥ A 3R B g 3ifhd SRR anfzead & fawg § 99 fw

A R fomm i

() wREEHRTA :
() wRRafEm B :
(iii) ®feRanfEs B :
(iv) R arfEs A

HEXEES

(a) (1) 37 (ii) e
() (i), (iii) 3 (iv)

031/2/4

Ig AT Ior TR BT T $UpE T of AT 2 |

30 B IRt T R ITH i W S1 3fet< Ut gan g |
TRl 3fer= <At Tt Ui Tt giet & il 39 39 SRR anfgen §
SR ! T HET BT R |

(b) (i) 3R (iii) o
d) (), (i) AR (ii)
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12.

13.

14.

15.

Hig Sitel | 3984 o 999 Afe aﬁwﬁmw&q’ﬁ%aﬁ:ﬁ%ﬁqw%mﬁdwqﬁqm
87

(a) <hISH SEITIITES + A (b) HIe SEHTFTEE + Teehigicd
(c) Wi 3T + Teahlaial (d) e SBATFTES + HAfFeh 3T+
Teh HIf¥Th i o ey § el HoH 8

()  Stfeet vt 1 aet vert o forered T A |

(i) Ttk Tt 6 stavaesdr i qfd & fore et foero v g g |
@(ii) St ¥ fafie e faftm Rt Rl @ € |

(iv) WIS TV i o ToTT Sfia sht Trqul |dg J9awor o qvaeh | 8idl & |
(@ (i) 3 (iii) (b) (i) 3R (iii)

(© (i) 3R (iv) @ (@) 3R (Qv)

freforfiaa § @ i 91 T N % T § 3R 3dme & &9 ° 78 fehear g ?
(a) IS 3 (b) Ffe
(c) I ufat (d) i S

AT & T sk <h! 7t 1 wIT A (s § esrian /=) & el 3 e fee mu s e vl 2 2

() I8 FHH H 91 o AT TRIGH 1 T H TFAT LT & |
(i) 9 € EH EE O & 98 T & @B |

(i) SHE A TH AT E T8 IR IS IAMR |

(v) IE T ekt I S B T TERIAT HLAT 2 |

(@) (i) 3R (iv) (b) (iii) 3R (iv)
(€ (i) 3R (i) @) @), (i) 3R @Qv)
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16. Toreft 58 o=t o5 19 < 3Ti@ H Gt TRiT S1ere o fore Fefetiaa 5 € % @ uitfeufa @t 2 2

()
(b)
(c)
(d)

SR IR H STt 31fereh AT | Ug=mT |

1fres wre o A o T 8w e |

SR HITITRIST ¥ Tereh T § S ol STa fiehe T |
TR HIRISHI 8 3[hU1 oh 37Treh W= Hisd BT |

17. f=fafaa 9 9 forg e 9 31ade edur o1 Sy feran S e ¢

(a)
(c)

- (b) el 3 e g7
T TTett H gee gdur (d) T e SANA! 1 G e g8 1§

18. w13 o fordt farg AB =1 staftia gfdfore o€ W wrg @1 =gar @ | = & wit
WﬁﬁABﬁ%ﬁﬁaﬁ@ﬁ%ﬁaﬁW?ﬂﬁ?

(©

031/2/4

B Cy\ N}\
2F1 Fl 2F1
Cy

N N
M M
. A A
-e ° O}K (d —e B O
9F  F oF,  Fy
Cq
N N
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19.

20.

21.

22.

= feu 7T 3@ H RIS T hig FAN H H R TR i 1 ST ST T
3 | STl TRt ST % STER A8 Yk Ik Bt =nfEe wiE

/

I N,
(a) A U (b) 3TEdd oG
(c) 3Iad giu (d) IaaH

IS Th AT 9T & AW geR WTEIH A (3UEdA 1.50) H ST g, HeTm B
(3TedTh 1.33) H YA il 8 3R 311 § q1e89 C (39aa-7eh 2.42) H Y9 il 2 |
Ffe g foptor g1 C @ g o ffa et ], o = feu wreami & et ® & 98 foram m
gHTPhal g ?

() 9g-A b) A-B

© B-C @ C-31

ST o SehIv o fore i feam mran =1 @1 we e Wl TE | 2

(a) ehIfOTd SehTST <A1 TT ATIHS o SHUTT o ATgal X ¥ i 2 |

(b) STIAYEH T ATS T ST JehTT F&T8 A Jehifvid &1 8 |

(c) I H vad YehTeT o faferr guit <t =et fom— T3 1 o5 HROT Tehret <l TR BT 7 |

(d) IRIESHH A H TEH HUT et TehTS hl ATt TehT=T <hl JorT | 3TTereh SRhifofa shid
2 | 31 yehiffa et g garl JATEl U Jaw HaT R |

Th wrdta fog oRord & SER, fou U smE % o s A gidfas % s 6

Treafeafga fafdreand gift -
A «%
I

C " §

(a) TR -ormes; A -THBFT (b)) T — GFTHS; U — U A AIF
() TE-—Fucas; AR -tHAHT  (d) T8 —ForeHs; TF — T @ 3feen
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23. 3TR@ H T FTTER s ThTT Fehtor 3aa X T 7 | Ife A, B 3R C o4 fafrar uwesff
ey 2, 1 feu e s o fore = fean e o w1 w fomen v @ 7

A
B 3
C 4
@) 1> /4 b) 1< /2
© /3=,2 d) 23> /4

24, feuu @ § X 3R Y Tod T o W & <f ol o 997 (T1) & | 'Y 1 aui fendent
e @ g ¢

(a) T 5 gl & <@ W ATt o1 aut
(b) TSHI | & W HTH HI 00

(c) W o faueti (Fehdl) I TH T ol
(d) <rIet s au g 1 o

-

Ts-9

We-G T 24 U (Y T 25 T 48) B | 30 @S o fohegl 20 YT o I T&! faehey
TR ST | Tt Bt Foh TTT 20 ST S € Fewich feam ST |

25. = & T srfufRnaA ® @ Ay foeren (fediiem) o &9 o affepa ot ST areft arfufsran
2
(@) 2H,0()) > 2H,(g) + O4(g2) (b) 2AgBr(s) — 2Ag(s) + Bry(g)
(©)  2AgCl(s) - 2Ag(s) + Cly(g) (d CaCOys) - CaO(s) + COL(g)
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26. = feu Tu vt i & pH A W fo=R i

Ekiicl EECll pH AW
1. BICEIRC] 2.2
2. SIS ™ 1.2
3. ot 3.76
4. T wHifeeh 3 3.0
39 TA1 1 HY 3T |igdl 1 31alia! (FedT) A &
(a) 3>4>1>2 (b) 2>1>3>4
(cp 2>1>4>3 (d 383>4>2>1

27. e 3mg ° guiift yrfires e @ sreren ek Frefafea 8 @ aft faser g

Q
&
g@ﬂ?ﬁﬁ% | m& .
~AEnem
P Q Ffcam Fgieare faeem §
BIEGRCRES
(a) K,CO, Cl, ™ 15 T 8l |
(b) KHCO, CO, & I3 THE 8 |
) KHCO, H, 7 CRRIEISICIES
(d) K,CO, CO, ™ SRR B Sz |

28. =l & T T A CaCl, %1 Ha! feu st 2 7
2+
M e 12— [~ xx 7| [ e 7]

(a) Ca®"|:Cl: (b) |xCak| |:CL:

M oo 7] [~ xx |t [ o 7]

(c) Ca®|:Cl: (d) |xCax| |+Cl:
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29, fereemo srfrfsran w6t guiy aret/aTe e 272
() NaCl faera 3t S arg
(i) AgNO, foera 3R i 41g
(iii) Al,(SO,), foerm 3 Axfiftrem arg
(iv) ZnSO, foerH 3R R arg

(a) (i) o (b) (i) 3R (iii)
(c) (iii) 3R (iv) (d) () AR (i)

30. = feu T N & Tauil § fored w1 Sa T8 8 7
() ferees oot (i) eITeet 3T Ui
(iii) & T ETST (TR GreT) (iv) SferT e
(@) (i) 3R (iv) (b) (i) HAR (i)
(c) (i) 3 (iii) d) () HAR (i)

T T 31 8 35 % fore, & e fed mu # 5 w1 iR (A) 7 R S HRY (R) 5
3ifehd foram T 7 | 39 W1 & Tl I A= f@ e (a), (), (c) 3R (d) 78 IR GRA |

(a) (A) T (R) TF1 el & 3R (R) 3Tfiehe (A) 6l Tl e i 2 |

(b) (A) T (R) qHI WEl &, W (R) MU (A) 1 Tl SHA1 Tl L1 2 |

© (A TR, WIR)TATR |

(d) (A) TR, W (R) @&l |

31. AP (A) : TSI ETESISH HE S HI STFNT USRS & Teh eI o &Y H [hAT TAT 2 |
FO(R)  : NaHCO, U got SFHENH &h A0 2 |

32. AR (A) : TTH(ceh 19 I & Teh HSATST SATGRT 2 |
HROT(R) A9 TG RIS O TAIT hich e SRS 3T T ST # |

33. AMHAA (A) : ey gfg & fow TEgoM T MEvE a ? qUT Ued g g
TSI ATgeel AU ATELIZel & &Y H TgUT foha T 8 |
HRO (R)  : UIGHl o 70 HeT ATSEISH, BIEhRE TUT 3= @S| 94 Hed Tardi o
fAeheam 3 gl TR ET B |

34. PP (A) : TG N GATK b T T Th1Y Tl BT & |

SR (R)  : SO I G ey 3R AT o g0 G < Tl gRI AgHved |
Tl TR QU FAEN R |
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35. SANHY (A) : BTSSRI TR ST | WISH o UTeH H TETIdT LT 2 |

SR (R)  : EESIAlGh 3T WIAHT bl TaH a1l TsTgHT ! fshamsfiel s &
U St Mo ST R B |

36. Tre o ¥ 0 FesH “Uh-Gvaivu & fAU HeH SEITRES JTavaH & % & &
TN <! shHaR forg o fo7u gt T | 39 fafy & fie feg o = fo@ | s w9 @
arwa»‘raﬁatra‘é’}qj%?

(a) QI AT o YIE b1 7 8 B o4 fo 318 I A hau |

(b) A hl Al Tl ARYEG S o foTT HieT T |

(c) EeT= TIEIT o TR G THAAT oh 1€l i 9 H IRAT |

(d) ST e < Teh—Tek ueht W h1 Sufefd w adierr % forg i |

37. < fuf¥a S<a1 — a=elt 3R aHe Fi o TEAT 3G ¥ g SFER 8 | 3 (a) 3R
(b) 3T eFu1 I TUT 3G AU T T A 39 g1 b fTT T 2 |

Gills (a) Alveoli (b)

(a) ﬁw%sﬁﬁaﬁa:wﬁa%

(b) TrEt ok fafam o fote ST Y udeft 3T 31T Tdg Bt 2 |
(€) St Teerer o fore g1 3 2R arfaentd wgd u Bt § |
(d) I H FR SATafSTia g o U3ETd ged B a1ud diedr | |
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38. = feu u fereft foramehaiT & 3@ =1 Y&or HIfTT | 18 15 safth TETett o fiat vame
fepTeran 2, a1 ¥ w1 frssh forepre @ ggRd AT g ?

X
AN

<——— < T qHT

\_/
(a) 3:3HA hl 9T H HIE STEIRTSS shi Tferwrdar Tfereh Bieft 2 |
(b) Tervaa StieefieH 6t Sufeafa d grar 2 |
() Tr:vama 6 9y ° e sgerreETEe S ufasrad 31 gt 2 |
(d) Torue FeA SEATHES I U A BT R |

39. Ffe g oid g hl FehTuTl =l 3T ThTIR1H b5 H 20 cm =l i T @R L Hepal 2,
A 39 o o &HaT ?
(a) +2D (b) —-2D (¢ +5D (d -5D

40. fereft i gdor 1 ashar BT 30 em B | 39 <Ol § FoReft foem B foRft gt T
ST =TT d1feh 3Tt IMATHT Tfdfers 5= 7

(a) 3 (b) 30 cm
(¢) 15cm ¥ 30 cm & = (d) 0cm 315 cm &=

41, 99 I g T T K gor 7 R () i e H orarg AT Bt 7 | g6
EAUD R

(a) WIS U0 A 6 faem
(b) ST WISH HT THR
(c) 3 | <reitm <ht ufexrfa sreman srquferfa
(d) Tk UsITgHT hi JUTRf 31era srufedfd
42. TAITH ok h 37 &I 3T ol TEE sHIfST ST Uredi | IS o Tieg H H&rial hid @ |

(a) AICH Hgdeh SR AT AfeThI  (b)  =ITer AfcTehT TR |8 HIfThIY
() AT ggueh MR FRETE  (d) AN g SR =T AferTd

43. 15 ANER i et fora o1 d1gs ® o9 1 Imatda gfdfers san, 8 9 W am
frn s ahdi 8 | A i HI BHE gl 30 e B, A ew A frm hi gl &
(a) —55cm (b) —50cm (c) —45cm (d —-40cm
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44.

45.

46.

47.

feu e 3w o forw it e s w sy wea T 2 7

Objectﬂ %
C E
(a) dSTEdfaeh Sdfes AT 2 | (b) wffers smafia ? |
() S eHagRAA TN RN | (d) Wfa= I g |

e

feu 7w smi@ o Al 1, 2 3R 3 % AU FH: ny, ny, I ng 8 | 3E TR H
feffga i asmaTa ? ?

(@ n;=n, (b) n;>n, (c) ny,>n, (d ny>n,;

I A 1 319edTeh 1.5 3R q1e9m B 1 319ed-ieh 1.33 3 | Af 9y § webre1 1 91ed
3 x 108 m/s ®, O AIEAHT A 3T B H JehT31 <hl =Tet SHATT: 8

(a) 2x108m/s 3 1.33x 108 m/s (b) 1.33 x 108 m/s I 2 x 108 m/s
() 2.25x108m/s3M2x108m/s (d) 2 x 10% m/s 3T 2.25 x 108 m/s

ﬁgﬁﬁmﬁm4cmWWW%@@ SOcmﬁE@‘T{@Td% | afe
2o 6 B gt 10 om 2, A1 Y AT st ) S

(a) +3.0cm (b) +2.5cm (c0 +1.0cm (d +0.75cm
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48. Tore SRt § 50.0 mL T 1 A ot T | ST H -3 hh qIegaaliieh 3w
foretrem T 3R foerm 61 a3 pH e o | e e s # feu sER R 13|
ToraeheTTa @ Tefera Tt oAt S giT |

7.00
6.00
5.00
4.00

3.00
2.00—¥
1.00+

0 T T T T T
10.0 20.0 30.0 40.0 50.0

fereme e HC ! R e (mL)
() T H T HAT AT SHEATIN sk & |
(1) 37 e W foetea 61 pH figar @ sear g |
(ii) 37 e W foretsa o1 pH digar @ sean g |
(iv) <% TeT T pH T 7.0 o7 |

@ @OIARGE () @IARGE) () (i) FRaE) (@) () TR (GE)

fee=m = pH

-

-1

@e—T U ofiF w1 fed U & qun ek el % uaTd ueH fedl e § | 39 @ H e 12
T (Y &I 49 T 60) T | 39 W & [hedl 10 T o I TE forsheq gt S |
TES! B TohT 1T 10 1 <1 &1 o1k fohall ST |

TR 1
Torell B 9 IR 91q P, Q, R 3R S TRt G131l o TUTEHT h1 3TEITH i b fo1C, faliE
TR ToRU. | 3Heh P TeT01 36 ThR & —
e o1 R I BISH 3 Tt Sl AT & T hrel ST T |
e YT P HATHISH | HANT HLeh HIg @188 M,0, S Ria 31t 3 &ehi
gt & Safrfsmam <l |
o & rffsma
P — 32 a1 T 11 § hIg STTsRT &1 55 W= W9 & S71fRa g8 |
Q — T ot @ SrffsRaT g8 3T €Tg 3 AT SRy oK fea |
R — 38 Ta o 1Y cftera & STfferam g3 |
S — Ja A 18 ot arfufsrn 78 g8 |
I ST <h TR T =t feu 1w s 61 I i
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49.

50.

51.

52.

53.

S TR T3 § H fohdeRt HERUT ST H ST STawh 8 7

(a P d) R () S d Q

< TR aTgS H E U Q B

(a) 3TRRA b) = (c) defrm (d) Afifyem
IFYHT FTFETES S el oTq

(a) P ® Q (¢ R (d S

T A 4T3 1 STffshATSiierar o1 ST (SedT) 3hH &

(a) P<Q<R<S (b) S<R<Q<P

(c0 S<P<Q<R (d P<R<Q<S

Tehur 11

Line from
pump Lubing made of a

selectively permeabld
membrane

Line from
apparatus
to vein

Fresh Used dialysing
dialysing solution
solution

femmm T S1TtE wEE YRR % SrfdtiE w1 g wtar 2 8 smiE #Ed § | e wRki
T T FavT TR IR S i uerert Wi ke s @ | 3 uere fRe Wi sk gem
JAfsha B <hY Srere # IO | ote A § € fehet urd 8 | 3areT < ufsean | oft &
IR H yarfed g9 ¥ Y9 eR ! 9gd H LU0 SR areft Aferenret (fafeeri) &
ftheet (IfgHa) ToraT ST 2 | 38 F=1 o STTUR W = TET 71Tyt w1 SR e

3TITEh § Fgd Ht AU TR Teft AfCTehTd el & ST Tgrran shic &
(a) B T YUl TE S TEH 1 |

(b)  3TUIEA ga | ATZEISHT AU o fheet T |

(c) 3TUIEA 5d § YIRS IcuTei ol TARA H |

(d) Trft % IR H gfigehd SR 1 aTaE T HE H |
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54.

55.

56.

517.

58.

59.

60.

feffeada s T s M IgmH AE 2 ?
(a) WRR Y TS SRSt S R |

(b) B T TR Al =h! fHehTerT |

(c) ®IeR | SATITIH UITehi T TSI AT |
(d) ®RR o fheet 3T 3G LT |

3TATEA o S1G o forera o ToReh! SRt Bid 8 ?

(a) i 3R sfere eam (b) BfeR IfITRTE

(c) wf&pt (d A

HIE %6 | JeB1Y] 1 95 i | 9H g SN (Hivad T o GRSl %R hidl & ?
(a) HIRTH TS (TATHETH) (b) A EYE

(c) fernd (d) HuTE et

Tt I11

T GEHERT Toh TehIrTe Ifth & fored @ o L, 3R L, 81d 8 | 7@ L, 1 31fgea shad
2 3t 718 feu e foma o1 ameafersh, Seer 3R smafeia wffsrs s 2 | =g wfifera g
o4 L, & et %&d &, b foTu foret 1 61 1 & | 98 AR 9t gEraRl Aa
JTgefeh oid shi Wifd Hrd L g 3 ifom whifers smar 2 S 9o for 6 wme S,
et 3R SR a2 |

o L, 3R L, o8 TR & 8 =1feT 7
(a) QM 37efcer (b) i 3T
(¢ L, 3Addd, L, 3dd (d) L,3dd, L, 3edd

T e g aiTel o SR ¥ L, gR1 & Tfafa & foTg STrads 1 7 31 38eh
Torg a g =y ?

(a) A =THTHA; fog —eems (b)) TN =T ¥ 3freh; Fuag — aFTeneh

() A =THTHA; fog —wTHs  (d) TN = U § 3feh; Fam — HweAD
Toft el forg aRuTdt o TTER 8 L, g0 o afers o foTu Straeq 1 7 3R 38eh
T = g1 =te 7

(a) A =THTHA; g —eATHs (b)) TN = U ¥ 3feh; Faw — eFTeAh

() HH=TUHYHH; fug —Fomems  (d) TH = U ° 3fereh; Fog — womenss
afe AR (L) hT &HaT 5 SHIAT 2 3R I8 T8 379 THIH 5 T 80 cm g W
Sferes ST 7, @ ofE & fepa! g o ot feora g =iz ¢

(a) 12cm (b) 16cm (c0 18 cm (d 20cm
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